[image: image3.wmf]
Table Assembly Instructions
SWRS-3131
Hardware:

 8 – #10 x 5/8” Pan Head Screws   
 8 – Shelf Clips
 6 - #8 x 1-1/4” Flat Head Screws
 6 - #8 Finish Washers
Tools Required:
Drill
1. Place cabinets back to back.
2. Secure the cabinets together using the #8 x 1-1/4” flat head screws and #8 finish washers by screwing through the back of one cabinet into the back of the other cabinet.
3. Place the top onto the bases. Adjust the top so that it is centered on the base.
4. Attach the bases to the top using the #10 x 5/8” pan head screws through the brackets provided in the cabinets.
[image: image1.jpg]Hann Manufacturing, Inc.







� EMBED AutoCADLT.Drawing.20  ���








PAGE  
1

[image: image2.wmf]_1525588897.dwg
User


